5.3 Notes-Indirect Proof

Indirect proof- A way to prove a statement true by assuming its conclusion is false and showing that
this assumption leads to a contradiction of the given, definition, theorem or postulate known to be true.

Steps for writing an indirect proof:
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State that the assumption must be 'VO(JSQ. and the original _CQ{\}Q( YAl must be true.

Example 1

Write an indirect proof.

Givem: mZADC + mzADB

Prove: AD is not an altitude of AABC.
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Example 2
Write an indirect proof.

Given:  /\ A%Cz
Prove: A triangle can contain only one obtuse angle.
Qrep V. A Friongwe Con Nowe more tnan
v oNe cotue oNYle .

Swp2: bt XA >0 6nd X R 90" by duk
ofF ootuae onges. ¥ A + 4@ +<C ZI80
Yae courae XA+

gu\o 3. Ouwr oasSumgption Mot o A Con Nave
ML ton 0Ne obtuwae L 1S falge

. A Ccan toun on
Example 3 con u:} (Lu-e ootue afB\Q 8

Write an indirect proof.
Given: AJKL with side lengths 5,
7, and 8 as shown
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